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1. (10%) The production of a unit of x requires 1/2 a unit of labour and
1 unit of capital. To produce a unit of y one would need 1 unit of
labour and 1/2 a unit of capital. Before sales, the goods must be
stored. One unit of storage space can accommodate either 1 unit of x
or 1 unit of y (or any linear combination »f the two). There are 100
units of labour, 100 units of capital and 110 units of storage space.
What would be the opportunity cost of x if the economy efficiently

produced 85 units of it?

2. (10%) The question is the same as that in (A). What would be the
opportunity cost of x had the economy efficiently produced 10 units

of y?
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3. (10%) Let g, and g, be the marginal propensity to spend of

governments in economies 1 and 2 respectively. g >0, g, <0.

Economy 1 employs a lump-sum tax system while economy 2
employs a proportional tax system. If the marginal propensity to
consume ¢ and to import m is identical in both economies, the
multiplier of economy 1 will be greater than the multiplier of

economy 2. True or false, explain.

4. (10%) For the monopoly shown in the figure below, the economic
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5. (10%)
Total fixed | Total variable
Quantity cost, TEC cost, TVC
(dollars) (dollars)
0 500 0
1 500 100
2 500 180
3 500 720
4 500 300
3 500 390
6 500 500
7 500 640
8 500 800
9 500 1000
10 500

1250
The table above shows some of the costs for a perfectly competitive firm.
The firm will produce 9 units of output if the price per unitis __ ?
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6. Suppose disposable income increases from $11 trillion to $12 trillion.
At the same time, consumption expenditure increases from $4.2
trillion to . Thus the MPC must equal

A} $5.0 trillion; 0.50
B) $5.5 trillion; 0.50
C) $4.4 trillion; 0.40
D) $5.0 trillion; 0.80

7. Suppose that a severe shock that decreases investment demand hits
the US. Which of the following can we expect to occur according to
the real business cycle model?

A) The FED will lower the federal funds rate.
B) The structural deficit will increase.
C) The real wage rate will rise.

D) The real interest rate will fall.
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8. In the above figure, the economy is at point A when the money wage
rate and the price level both fall by 10 percent. Firms will be
willing to supply output equal to

A) less than $13.0 trillion
B) $13.0 trillion
C) more than $13.0 trillion

D) Without more information, it is impossible to determine
which of the above answers is correct.
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9. Suppose a teenager has $20 and likes both rap music (R) and
country music (C) with a set of preferences so that U=C""R".
Suppose that the iTunes price of a rap music song is P, =2 and the

price of a country music song is P.=1. What is the greatest level of
affordable utility?

A)7
B)+/50
C)8
D)9
=. %A (30%)
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